

Page 1 of 6

Contract ID: 21457 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: May 27, 2021 District(s): N4
Call Order: 457 Project(s): N/A

Line No / Item ID Item Description			(1) DENVILLE L					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0001	151006M	1.000	5,200.00000	5,200.00				
_	RMANCE BOND AND NT BOND	DOLL						
0002	152015P	1.000	4,000.00000	4,000.00				
POLLUT	ION LIABILITY INSU	RANCE DOLL						
0003	MMR004M	15.000	3,000.00000	45,000.00				
MOBILIZ	ATION	U						
0004	MMR005M	4.000	1,500.00000	6,000.00				
SPECIAL	MOBILIZATION	U						
0005	MMR006M	1.000	2,500.00000	2,500.00				
EMERGE	ENCY MOBILIZATION	N U						



Page 2 of 6

Contract ID: 21457 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: May 27, 2021 District(s): N4
Call Order: 457 Project(s): N/A

Line No / Item ID Item Description		(1) DENVILLE LI INC						
Alt Set / A	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	SECTION: 0001 Roadway		Cat Alt		Set:	Cat Alt Member:		
0006 M	IMG018M	1,000.000	1.00000	1,000.00				
FIELD OFFI	CE EQUIPMENT	DOLL						
0007 1	58072M	1.000	1,200.00000	1,200.00				
OIL ONLY E TYPE 1	MERGENCY SPILL KI	T, U						
0008 1	09006M	50,000.000	1.00000	50,000.00				
FORCE ACC	COUNT	DOLL						
0009 M	IMR080M	10,000.000	0.01000	100.00				
CLEARING S	SITE	LF						
0010 6	10003M	75,000.000	1.50000	112,500.00				
TRAFFIC ST LESS THAN	RIPES, 4" (CALLOUT 25,000 L.F.)	S LF						



Page 3 of 6

Contract ID: 21457 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: May 27, 2021 District(s): N4
Call Order: 457 Project(s): N/A

Line No / Item ID Item Description		(1) DENVILLE LI						
Alt Set /	Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0011	610006M	25,000.000	2.00000	50,000.00				
	STRIPES, 6" (CALLOUT NN 25,000 L.F.)	S LF						
0012	610007M	15,000.000	3.00000	45,000.00				
	STRIPES, 8" (CALLOUT NN 25,000 L.F.)	S LF						
0013	610008M	3,500.000	16.00000	56,000.00				
TRAFFIC I	MARKINGS, SYMBOLS	SF						
0014	610013M	2,500.000	2.50000	6,250.00				
TRAFFIC I	MARKING LINES, 4"	LF						
0015	610014M	2,500.000	5.00000	12,500.00				
TRAFFIC I	MARKING LINES, 8"	LF						



Page 4 of 6

Contract ID: 21457 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: May 27, 2021 District(s): N4
Call Order: 457 Project(s): N/A

Line No / Item ID Item Description			(1) DENVILLE L					
Alt Set	/ Alt Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0016	610016M	1,500.000	6.50000	9,750.00				
TRAFFIC	MARKING LINES, 12"	LF						
0017	610017M	5,000.000	15.00000	75,000.00				
TRAFFIC	MARKING LINES, 24"	LF						
0018	610012M	25.000	40.00000	1,000.00				
RPM, MC LENS	DNO-DIRECTIONAL, WH	HITE U						
0019	610018M	25.000	40.00000	1,000.00				
RPM, MC AMBER L	DNO-DIRECTIONAL, LENS	U						
0020	610021M	25.000	40.00000	1,000.00				
RPM, BI- LENS	DIRECTIONAL, AMBER	U						



Page 5 of 6

Contract ID: 21457 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: May 27, 2021 District(s): N4
Call Order: 457 Project(s): N/A

Line No / Item ID Item Description			(1) DENVILLE LI					
Alt Se	t / Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt	Set:	Cat A	It Member:		
0021	610024M	150.000	5.00000	750.00				
REMOVA	AL OF RPM	U						
0022	610027M	100.000	20.00000	2,000.00				
REMOVAL AND REPLACEMENT OF URPM LENS		T OF U						
0023	610030M	50.000	200.00000	10,000.00				
FLEXIBL MOUNTE	E DELINEATOR, GROU D	JND U						
0024	610036M	1,000.000	1.00000	1,000.00				
REMOVA	AL OF TRAFFIC STRIPE	ES LF						
0025	610039M	1,500.000	4.00000	6,000.00				
REMOVA	AL OF TRAFFIC MARKII	NGS SF						



Page 6 of 6

Contract ID: 21457 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION, WARREN

Letting Date: May 27, 2021 District(s): N4
Call Order: 457 Project(s): N/A

Contract Time: 12/31/22 COMPLETION DATE Min: Max:

Contract Description: Re-ADV Maintenance Pavement Markings Contract, North - 2021

Line No / Item ID Item Description		(1) DENVILLE LINE PAINTING, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

Section Totals: \$504,750.00

Contract Totals \$504,750.00

Cost Plus Time Totals \$504,750.00

() indicates item is bid as Lump Sum



Vendor Ranking Page: 1

Call Order: 457 Contract ID: 21457 Counties: BERGEN, ESSEX,

HUDSON, MORRIS, PASSAIC, SUSSEX, UNION, WARREN

Letting Date: May 27, 2021 10:00 AM District(s): N4

Contract Time: 12/31/22 COMPLETION DATE

Contract Description: Re-ADV Maintenance Pavement Markings Contract, North - 2021 Project(s): N/A

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	D2597	DENVILLE LINE PAINTING, INC.	\$504,750.00	100.00%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.